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mIER ME AR ERERBASIBIRIARE

% i B - IRk B ¥ 8 B & & w =
BRI 8,781,170 + 182,406 8,963,576
EEAGE 8,781,170
EERE 182, 406
Z D HRTE 8,781,170 x 53.85% ( 35% + (1 — 35% ) ) 4,728,660
BRI 8,963,576 + 4,728, 660 13, 692, 236
—REEERE 13,692,236 x 53.85% ( 35% + (1 — 35%) ) — 5,505 7,367,764
e L 13,692,236 + 7,367,764 21, 060, 000
HBEGEELE 21,060,000 x 10.00% 2,106, 000
XHREH 21,060,000 + 2,106, 000 23,166, 000




BENRE RS SE SRR BT REA LR

% R B - IR % B B 8 B ® % m =
BRI 8,963, 576
BTE - ¥ - AEEEB 8,963, 576
BIEHEFREXRS 8,963,576
AL ERE 8,781,170
EEES 415, 450
1 FHE - £E 1.00 415, 450 415, 450
=
REOHH 551, 850
2 EXREHOFRERL 1.00 551, 850 5561, 850
=
BiRitEoiRst 6, 822,020
3 BIAEDRE 1.00 2,908, 500 2,908, 500
=
4 REFEOBRE 1.00 1,748, 600 1,748, 600
=
5 REXEDEET 1.00 581, 700 581, 700
=
6 THEROER 1.00 581, 700 581, 700
=
T BERE - BETEOREH 1.00 1,001, 520 1,001, 520
=
R 451, 350
8 EBTHRIEEM 1.00 451, 350 451, 350
=




BERRE SRS EBE RSB TR RS

& - |E 540, 500

9 EhIHRE 1.00 117, 400 117, 400
]

10 HPREEHRE 2.00 117, 400 234, 800
]

11 R#R|E 1.00 188, 300 188, 300
]

EEEE 182, 406

EBRARE 82, 406

12 EBRARE 1.00 82, 406 82, 406
=

MR 100, 000

13 EBHER 1.00 100, 000 100, 000
=
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H5 1
25 5TE - #EifE IEED)
% f] R - BIKTE BARL = i ] it w =
RETE
A 1.00 70, 900. 00 70, 900
EE2THEHD)
A 1.50 62, 200. 00 93, 300
HEm (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 2.50 45, 300. 00 113, 250
& &t {YE%8ERH : 1.00=X 415, 450. 00 415, 450
&5 .2
2 BERROZEERY IEED)
% b R - BRTiE BAfL = fifi ] i1 w =
EE2THEH))
A 1.50 62, 200. 00 93, 300
HEm (A)
A 3.00 55, 200. 00 165, 600
HEm (B)
A 3.50 45, 300. 00 158, 550
HEm (C)
A 2.00 35, 600. 00 71, 200
B8
A 2.00 31, 600. 00 63, 200
& E%8:H : 1.00= 551, 850. 00 551, 850
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H#E 3
L% I AEORE IEED)
% f] R - BIKTE BAf H = B ® it w =
EE2THEHD)
A 12.50 62, 200. 00 771,500
HEm (A)
A 15.00 55, 200. 00 828, 000
HEm (B)
A 10. 00 45, 300. 00 453,000
HEm (C)
A 15.00 35, 600. 00 534, 000
Hittg
A 10.00 31, 600. 00 316, 000
& B {YE%8ERH : 1.00=X 2,908, 500. 00 2,908, 500
&5 4
2 REXNEDRET IEED)
% b R - BRTiE BAfL #H = B ® # i1 w =
EE2THEH))
A 8.00 62, 200. 00 497, 600
HEm (A)
A 9.00 55, 200. 00 496, 800
HEm (B)
A 6.00 45, 300. 00 271, 800
HEm (C)
A 10. 00 35, 600. 00 356, 000
B8
A 4.00 31, 600. 00 126, 400
& E%8:H : 1.00= 1, 748, 600. 00 1, 748, 600
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HE 5
27 BREXEOKET IEED)
% f] R - BIKTE BAf H = B ® it w =
EE2THEHD)
A 2.50 62, 200. 00 155, 500
HEm (A)
A 3.00 55, 200. 00 165, 600
HEm (B)
A 2.00 45, 300. 00 90, 600
HEm (C)
A 3.00 35, 600. 00 106, 800
Hittg
A 2.00 31, 600. 00 63, 200
& B : 1.00= 581, 700. 00 581, 700
&5 :6
2 TEEROMERK IEED)
% b R - BRTiE BAfL #H = B ® # i1 w =
EE2THEH))
A 2.50 62, 200. 00 155, 500
HEm (A)
A 3.00 55, 200. 00 165, 600
HEm (B)
A 2.00 45, 300. 00 90, 600
HEm (C)
A 3.00 35, 600. 00 106, 800
B8
A 2.00 31, 600. 00 63, 200
& - 1,00zt 581, 700. 00 581, 700
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&5:17
2% BEHE - EIZEOEH 1Ly
% b R - K& By = B f £ # w =
FEf (A)
A 1.50 55, 200. 00 82, 800
FAf (B)
A 6. 60 45, 300. 00 298, 980
FAf (C)
A 7.60 35, 600. 00 270, 560
it g
A 11.05 31, 600. 00 349,180
& B {YE%8ERH : 1.00=X 1,001, 520. 00 1,001, 520
&5 :8
B EBTERREER 1KLY
% L R - KT BARL = B f £ # w =
EXEETTTCH))
A 1.50 62, 200. 00 93, 300
AR (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 2.50 45, 300. 00 113, 250
HEm (C)
A 3.00 35, 600. 00 106, 800
& Bt 1EZEEAN - 1.00K 451, 350. 00 451, 350
&5 :9
& . BETHE HEED
% b A - KA BAGL = B i ] i w =
F{EHAED (GRED)
A 1.00 62, 200. 00 62, 200
e (A)
A 1.00 55, 200. 00 55, 200
& it YE%HEH - 1.00[E 117, 400. 00 117, 400
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&5 :10
A PRERE 1EHY
% b R - K& BAGT = B f £ # w =
EXETACH))
A 1.00 62, 200. 00 62, 200
ER (A)
A 1.00 55, 200. 00 55, 200
& Hi 1EZ£8EH - 1.00[E] 117, 400. 00 117, 400
‘&5 :1
& . RBR|E HEEPD)
% L R - K& BfT = B f £ i B &
HEE
A 1.00 70, 900. 00 70, 900
EXEETTTCH))
A 1.00 62, 200. 00 62, 200
& (A)
A 1.00 55, 200. 00 55, 200
& Hi EZ8EAH : 1.00E 188, 300. 00 188, 300
E#E 12
&% EHERARE X4y
% L R - KT By = B O(f i i B %
EHXARE
= 1.00 82, 406. 00 82, 406
& Hi 1E%8EH - 1.00K 82, 406. 00 82, 406
H5:13
& EBHRS X5y
% b R - KT By = B O{f ] i B %
EBHRME
= 1.00 100, 000. 00 100, 000
= it 1EZEEH - 1.00K 100, 000. 00 100, 000




